do / dAnF [mb]

=
o
N

10

Ratio to ATLAS

0.5

7000 GeV pp

| I I I | I I I |
Rapidity gap size(pT > 0.6, h| < 4.9)
m  ATLAS

--3-- Herwig 7.0.2 default
—— Pythia 8.308 default

J=

Soft QC

Rivet 3.1.10, = 600k events

_| | | | | | | | | | | | | | | | |_
_| T T T | T T T | T ml T | T T I\\ |_
— Ed ]
— J}]’E:r rj:\l‘ i
~ =E -
— [«ﬂEﬂ =1
— E« p—
— E}[{r _]
— EEEE i
i /fﬂ\ﬁj—mw% _

//IE/ ]
L /[;ﬂ’ _
- I}j _
| 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
0 2 4 6 8

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


